
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

1) 960 - 732 = F F = 228

2) 741 - R = 49 R = 692

3) 992 = 977 + J J = 15

4) 698 + 124 = S S = 822

5) Q + 816 = 957 Q = 141

6) 955 = 984 - Z Z = 29

7) 650 = H + 142 H = 508

8) 611 = L + 283 L = 328

9) C = 952 - 707 C = 245

10) B - 181 = 613 B = 794

11) 909 - N = 371 N = 538

12) 111 + M = 889 M = 778

13) 293 = U - 565 U = 858

14) 815 - 803 = E E = 12

15) 708 = A - 170 A = 878

16) T = 791 + 189 T = 980

17) G = 953 - 703 G = 250

18) 628 = 882 - V V = 254

19) Y - 490 = 166 Y = 656

20) W = 90 + 279 W = 369

1. 228

2. 692

3. 15

4. 822

5. 141

6. 29

7. 508

8. 328

9. 245

10. 794

11. 538

12. 778

13. 858

14. 12

15. 878

16. 980

17. 250

18. 254

19. 656

20. 369

     

Trova il valore delle variabili

Aggiungi e sottrai Variabili fino a 1000
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Nome:

Risposte



1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

1) 960 - 732 = F F = 228

2) 741 - R = 49 R = 692

3) 992 = 977 + J J = 15

4) 698 + 124 = S S = 822

5) Q + 816 = 957 Q = 141

6) 955 = 984 - Z Z = 29

7) 650 = H + 142 H = 508

8) 611 = L + 283 L = 328

9) C = 952 - 707 C = 245

10) B - 181 = 613 B = 794

11) 909 - N = 371 N = 538

12) 111 + M = 889 M = 778

13) 293 = U - 565 U = 858

14) 815 - 803 = E E = 12

15) 708 = A - 170 A = 878

16) T = 791 + 189 T = 980

17) G = 953 - 703 G = 250

18) 628 = 882 - V V = 254

19) Y - 490 = 166 Y = 656

20) W = 90 + 279 W = 369

1. 228

2. 692

3. 15

4. 822

5. 141

6. 29

7. 508

8. 328

9. 245

10. 794

11. 538

12. 778

13. 858

14. 12

15. 878

16. 980

17. 250

18. 254

19. 656

20. 369

     

Trova il valore delle variabili

Aggiungi e sottrai Variabili fino a 1000

Matematica www.CommonCoreSheets.it

Nome:

Risposte

Soluzioni



Semplificato 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) 960 - 732 = F F = 228

2) 741 - R = 49 R = 692

3) 992 = 977 + J J = 15

4) 698 + 124 = S S = 822

5) Q + 816 = 957 Q = 141

6) 955 = 984 - Z Z = 29

7) 650 = H + 142 H = 508

8) 611 = L + 283 L = 328

9) C = 952 - 707 C = 245

10) B - 181 = 613 B = 794

11) 909 - N = 371 N = 538

12) 111 + M = 889 M = 778

328 822 245 538

508 141 778 29

15 794 228 692

1. 228

2. 692

3. 15

4. 822

5. 141

6. 29

7. 508

8. 328

9. 245

10. 794

11. 538

12. 778

     

Trova il valore delle variabili

Aggiungi e sottrai Variabili fino a 1000
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Nome:

Risposte
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